The Egyptian language school Algebra (1% prep.)

Mathematics department Sheet no. (1)

Choose :-

1) 2% 5° =i o (55.5° 5,57

...............

3) The additive inverse of the number (-2 Y is ..............

(8,-8,-4,6)

1.3
4) (—1;}—) T et eeeereaaaaanan
125 125 25 1
(64’ 64 16’ 64)
_ 5.ab_ 2 X
5) Ifa—b,then(7) ............ (7,5,1,zer0)

Calculate in the simplest form :

b(2) - (2) x ST

B3 xxZxxt’

3)(“%)3 4)((___2.)2)3

Find in the simplest form :-

b (23)+ 1377

Bl —F %P il =2F




The Egyptian language school Algebra (1* prep.)

Mathematics department

Sheet no. (2)

Choose :-

1ya_ S = B o4
1) (3) ...................... (27,81,81,27)
2) € a® J* = s (a%,a%,2%,a")
552

3) (3;3) — J— , V¥ 0 (v %2 )

4) The additive inverse of the number ( —%)2 e
9 9 3 3 |
e~ 16" 7273
5) The quarter of the number4%* = .................. i
(45’410’419’210) |
6) 2°+2%= o, (4°,2%,2%,2%)
Complete :-
64 4
Vs = )
i 2 E zZero _ 9
2) ( - ) X ( . YO =
e 2 Byz_ *
3) ( 3) X (2) S
b3
4) fa=-3,b=-2, then (;) = rernersraeeene |
ifa=— % ,b=2,c= % , then find the humerical value of the expression j
a’b® + b’c— 8abc

|
i




The Egyptian language school Algebra (1% prep.)

Mathematics department Sheet no. (3)

Choose :-
1) X =1, thenX= ... (2,-1,2,-2)
2 2 i
(—2x2y3)® x4t x5 x4
2) m—, XYz0 (— "oy 'Y
-
o8 e JX#0 (3aX,325%7,2 2)
2acX a "axX i
3 I o R S—— (3°,3%:3°,8)
5) |fx:1 Y=2, then X Y = oo (2,5 ,24,1) |
2* 4 "2 16
9m® m* m? 9m®
6) (5 )1><( )2 .................. ,mn#0 (== ,—,—]}
n n n n
Comglete &=
2
1) 2X-4: _. 2)2%: (_3) ...... {
3)5°x5° =7 A b T
5)|fx=§, =— ,then (X=Y) 1= .
6)(3a%) = —

Calculate :-

1) 5 2% 5" (3 ® 7 )1
53 73 x 32
X2Y?2 x X2Y x Y?
3)

X2 xY?

If X = %, Y= % , find the value of the expression (2X—Y)™2 xY




The Egyptian language school Algebra (1° prep.)

Mathematics department Sheet no. (4)

Write in the standard form :-

1) -2540000 2) 0.000046

3)0.7x 10" 4) 0.0435 x 10°

Choose :-

1) 1£0.000237 =2.37 x 10", then N = eoovvvveee..... (4,2, 4.2}
Y LR & e X 2 (X°,X>,X%,X%)

1
3) Which of the following = " million?
(25x10°,0.25x 10°, 0.25 x 10°, 0.25 x 107)
Pod . B 5 25 4
4) ( - ) ST (1 )

5 ¥4 g5
5) 2.37 X107 = oo
(0.00237, 0.000237, 23700, 0.0000237 )

Find the result in standard form :-

1) (4.4x10°)x (2 x10°)

2)(5.8x10")+(3.2x10)

3) (65.5x 107 ) + ( 5x 10%)

4) 60000 x 5000




The Egyptian language school Algebra (1% prep.)

Mathematics department Sheet no. (5)
Choose :-

1) 3x2-16+8=...cceeeee (4,6,2,3)

2) 12 ()£ 24+ P = e, (4,5,11,13)

3) 44 2x3 =......... (18,10,14,24)

4) If the thickness of a piece of paper =0.012 cm , then which of the
following is the height of a ream of 600 pieces of paper?
(72x107%,72x10%,72,7.2 x 10°™)

Calculate :-

1) 8x2°—7x (4 +1) 2) 2((5% + 1) — (4 - 1))
542 %5
4)16+=— 3 x10°+25
2241 4 4
Simplify :-

1) 2—[{7-3)=2]

2) 144-8+2°

2 (7)) x 5= (3)

4) 3ab+8a+(4b),whena=4andb=-2




The Egyptian language school

Mathematics department

Algebra (1% prep.)

Sheet no. (6)

Choose :-
9
1) T T e

2) The number v0.09 is ...............

( natural, positive integer , negative integer, rational )

4) The additive inverse of\/zz5 I8! soussssoenin

5) The multiplicative inverse of& LR —

6) V16 +9 =4+....

(2:6;%2,%46)
(16,8,4,2)

If (AB)®> = 144 cm® , (BC)*=625cm” and B € AC , then find the length of AC

Simplify :-

1 25 ’82 )
(*5)3XJ—";'X () x 37




The Egyptian language school Algebra (1* prep.)

Mathematics department Sheet no. (7)

Choose :-
1) The age of Ahmed now is X years, then his age 5 years ago is ..........
years. (5X,5+X,5-X,X-5)
2) Ahmed’s age 3 years ago was X, then his age now is .......... Years.
(X+3,X~3,3-X,3X)
3) If Xiis an odd number, then the next odd number directly is ............
(X+1,X+2,2X,2X+1)
4) 1f3X =21, then X = w.oo......... (28,40,16,7)
5) The S.S. of the equation X—2=3inNis ......... ({5}, {-5},1{0}, &)

6) The solution set of the equation 2X+1=-3inNis ............

({1}, {2}, {4}, ¢)
7) f2X=12, then 3X = conc...... (6,4,3,18)
8) If 3X =5, then the value of 12X = ................ (4,20,36,60)
9) If5X=20,then X+ 3 = .co.......... (16,12,17,7)

10) If 5X =35, then 2X + 1 = woouue....... (7,8,15,71)




The Egyptian language school Algebra (1% prep.)

Mathematics department Sheet no. (8)
Choose :-

1) The S.S. of the inequality X<2inNis ......... ({0}, {1},{0,1}, @)
2) TheS.S. of the inequality 1< X < 3 s ............ ({3}, @, {2,3}, {1,3})
3) fX<3,thenX......-3 (¢, 2, 8.5

Find the S.S. of the inequalities in @ :-

1} PR

2) X+5>9

3) 3X+8<1

4) 11-2X>17

5) 3X—2 < 3-2X

Solve the inequality in and represent it on the number line:-

-2X—-321

Find the solution set of the inequality in Z and in @ :-

2X+5< 16




The Egyptian language school Algebra (1* prep.)

Mathematics department Sheet no. (9)

Choose :-

1) In an experiment of throwing a regular die once, the probability of
appearance of a number greater than 6 is ......... (0,1, % ,i )

2) If a die is tossed once, then the probability of getting a number that
1 1 1

satisfies the inequality 2< X< 3 is ........... S 5 g ,0)
3) If the probability that a pupil succeed is 75%, then the probability of his

failureis ........... (-0.75,0.25,0.75,1.25)
4) The probability of success of a student is —1-7-6 , then the probability of

failure is ....cocueeue..e. (07,1, -1% ,—1% )

5) Ebrahim is in a grade 7 class of 36 students and 16 of them are girls. If a

student is selected randomly from the class, what is the probability that

the student is a boy? (&4 8 Ly

9’2’9 ’36
6) There are 480 pupils in a school, 120 of them failed. A pupil is chosen

randomly, then the probability that the pupil succeeded is ..............

(0.25%,0.75,0.8,0.667 )

7) A letter is selected randomly from the word “Nora” , the probability of
£t % 3 3

4’4’44

)

selecting the letter N is ............. (

8) In the opposite figure:

The probability that the pointer will stop

at a number greater than 6 equals ................

(

Q=
R
w|w
ol w

)




The Egyptian language school Algebra (1* prep.)

Mathematics department Sheet no. (10)

Choose :-
1) If a>b and cis a negative number, then ac....... bc (<,>,=,2)
2)-E<5isequivalentto ............. (x<-2—,x>§,x<10,x>10)
3) The probability of an impossible event = ............ (1,0,-1, é)
4) The sum of the probabilities for all possible outcomes of a random
experiment is ............... (0, L, <8 ,51)
5) Which of the following numbers is the probability of the occurrences of
an event? (1.2,-0.4,3.15,75%)
6) If a coinis flipped once, the probability of appearance of a tail is .........
(1,05.0,2)
7) If a coinis tossed 160 times then the approximate number of
appearance of a head is .......... (60,78,90,159)
8) If a die is rolled once, then the probability of getting an even number on
the upper face is (—1- i -2-)
pper faceis ........... T
9) A regular die is rolled once, then the probability of getting a number less
than 3 is .cccu...... je & B .3
2’3’3’6

A card is drawn randomly from 10 cards numbered from 1 to 10, then
calculate the probability of drawing :

1) Card carries an odd number greater than 10

2) Card carries an even number less than 10

3) Card carries a prime number

A box contains 10 balls numbered from 1 to 10. If a ball is drawn randomly,
then find the probability of :

1) Getting a number divisible by 7

2) Getting an even number

3) Getting a number less than 8




